A

1. Reste rovnici: 3a—-2.(a+2)=5a—-4.(a+1)

2. Reste rovnici: 52y—1)=3.(y+2)=4y—7.(6—y) — (2 + 4y)

3. Reste rovnici: 3—x—7_3x+ﬂ=2_5 x_1
3 5 5 3 3
B
1. Reste rovnici: Sa_(a_a _a4
12 3 6 4

2. Reste rovnici:

3. Reste rovnici: 2{£+x 1):5_2x_5_2x+g

A

1. Reste rovnici: 3a-2.(a+2)=5a—4.(a+1)

2. Reste rovnici: 52y-1)-3.(y+2)=4y-T7.(6-y)— (2 +4y)

3. Reste rovnici: 3—x—7_3x+£:2_£ x 1
3 5 5 3 3
B
1. Reste rovnici: S_a_ a_a)|_¢a
12 3 6 4

2. Reste rovnici: 8y —2.3-2y)-3.(y+10)=10.(y-1)— (6 +Yy)

—_— +_
5

3. Reste rovnici: 2_(f X 1] 5 9y 5-2x 451



